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Q1.Assertion(A): In India the rise of nationalism is associated with the anti-colonial
movement.

Reason(R): The sense of being oppressed under colonialism connected many different groups
together.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Ans-A. Both assertion and reason are true and A is correct explanation of R/ CId]I 3-ﬁT hIU] ?fl?-ﬂ'
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The rise of nationalism in India was in direct response to the anti-colonial movement. The sense
of oppression and exploitation under colonialism served as a unifying factor, connecting

different groups together in their fight against British rule.

Q2.Match the entries of Column | with those in Column Il

Column | Column i
(A) Dandi March (i) 1919

(B) Khilafat movement (ii) 1928

(C) Simon Commission (iii) 1930

(D) Purna Swaraj (iv) 1929
Prerd | T wfaTseaT 1 rerd || Fr gfafSeai & fFeme-
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(C) TISHT HHIAT (iii) 1930
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A.A-i,B-iii,C-ii, D -iv
B. A -iii,B-i,C-ii,D-iv
C.A-iii,B-ii,C-i,D-iv
D. None of these

Salt Satyagraha March started on 12th March 1930 from Sabarmati Ashram and reached Dandi
after 24 days on 6th April 1930.

The Khilafat Movement was a political campaign launched by Indian Muslims in British India
from 1919 to 1922. It aimed to protest against British policies towards Turkey and the
dismantling of the Ottoman Empire after World War I. The movement sought to address the
grievances of Turkey and promote Hindu-Muslim unity

The Indian Statutory Commission, also known as the Simon Commission, was a group of seven
members of the British Parliament under the chairmanship of Sir John Simon. The commission
arrived in the Indian subcontinent in 1928 to study constitutional reform in British India.

The Indian National Congress, on 19 December 1929, passed the historic 'Purna Swaraj' — (total
independence) resolution — at its Lahore session. A public declaration was made on 26 January
1930 — a day which the Congress Party urged Indians to celebrate as 'Independence Day.

Q3.Which of the following subjects are included in the State List?
a) Agriculture

b) Irrigation

c) Police

d) All of the above
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Answer: Option (d) All of the above /39RIed THT
State List Subjects(Total 61)some of them are:

e Public order.
e Police.
® Public health and sanitation.



e Hospitals and dispensaries.
e Betting and gambling.

Q4.Assertion(A): Federalism is a system of governmentin which power is divided between a
central authority and various constituent units of the country.

Reason(B): Usually, a federation has one level of government.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Explanation- One is the government for the entire country that is usually responsible for
a few subjects of common national interest. The others are governments at the level of
provinces or state that look after much of the day-to-day administering of their state.

Q5. What significant event does the above image of Gandhiji leading on a march depict?



The Non-Cooperation Movement

The Civil Disobedience Movement

The Quit India Movement

The Champaran Movement
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Answer- The Civil Disobedience Movement/ I 31947 3MeIoled

In the year 1930, under the leadership of M.K. Gandhi, the Civil Disobedience Movement began.
The Civil Disobedience Movement was founded on the principle of defying British regulations.
From his ashram in Sabarmati, Gandhiji started his legendary Salt March Dandi March to the
Gujarati seaside village of Dandi.
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Q6. Bhakra Nangal River Valley Project is made on the river:

(a) Sutlej-Beas

(b) Ravi-Chenab

(c) Ganga

(d) Son
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Answer- A. Sutlej-Beas/ A. Tdelol-sdTH

Bhakra Nangal Dam is a concrete gravity dam on the Satluj River in Bhakra Village in Bilaspur
district, Himachal Pradesh in northern India. The dam forms the Gobind Sagar reservoir.

The primary use of the Bhakra-Nangal dam is irrigation, storing rainwater. The dam provides
irrigation water to Haryana, Rajasthan, Gujarat and Himachal Pradesh. The dam is also famous
for tourism and generating electricity

Q.After primary and secondary, there is a third category of activities that falls under tertiary
sector and is diBlerent from the above two. These are activities that help in the development of
the primary and secondary sectors. These activities, by themselves, do not produce a good but
they are an aid or a support for the production process. For example, goods that are produced
in the primary or secondary sector would need to be transported by trucks or trains and then
sold in wholesale and retail shops. At times, it may be necessary to store these in godowns. We
also may need to talk to others over telephone or send leHliers (communication) or borrow



money from banks (banking) to help production and trade. Transport, storage, communication,
banking, trade are some examples of tertiary activities. Since these activities generate services
rather than goods, the tertiary sector is also called the service sector.

srafae 3R Areafas & are, afafafRt $ v el Aol § St g &1 & HdeTd A
¢ 3R IS eIt & 3fereT ¢ | T vy arfafafer § s arafaes ik areaf@e aat & e
H A Xl o | T ATATATAAT, 39T 3T H, IS 3TOT 3cUIGT oTg] Il & dfeh d 3caTGe]
gferar & forT ueh Tgrdr a1 §HY § | 3816’01 & forw, wrafAes ar gfadae a3 # 3curfed
glel aTel TTHTEAT ST Cohl AT AT GaRT of SITAT STl ﬂﬁUﬁTWWﬁTWW#
ST ST TRT| ol e TMeTAT 3 $7aTR FAT ITTLTH &Y TohelT &1 §oF Seureet 3R
SITIR # Ag  folT gaxt & CellhleT T S YA AT 97 (FIR) aﬁaﬁmaﬁ(aﬁm)ﬁﬁﬁ
maﬁaﬁraﬁmaame’maw—cﬁﬁ aRaest, HERUT, HaR, sfeher, AR el
AT & F& 30T &1 fh 4 arfafaferar a&g3it & olg AaT¢ 3cesl Al 8,
sﬂﬁrca?hwmaﬁwmaﬂwm%l

Answer the Q7-Q10 based on the above extract
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Q 7. Which economic sector is considered the manufacturing sector?
A.Tertiary sector

B.Secondary Sector

C.Primary sector

D.None of these
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Answer- Secondary Sector/ 3<iX- qfa?ﬁw &

Manufacturing is an integral and huge part of the economy. It involves processing and refining
raw materials, such as ore, wood, and foodstuffs, into finished products, such as metal goods,
furniture, and processed foods. Converting these raw materials into something more useful
adds value.

Q 8. Which of these activities does not comes under the tertiary sector?

A. transport and trade

B. storage, communication

C.banking, trade

D. manufacturing of cloth
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Answer- D. manufacturing of cloth/ YIS T AATT

The tertiary sector covers a wide range of activities from commerce to administration,
transport, financial and real estate activities, business and personal services, education, health

and social work.

Q9.Which sector is known as service sector?
ATertiary sector

B.Secondary Sector

C.Primary Sector

D. All of these
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Answer- A.Tertiary sector/ W &

The service sector, also known as the tertiary sector, is the third tier in the three-sector

economy. Instead of product production, this sector produces services maintenance and
repairs, training, or consulting.

Q 10. Fill in the blanks-
These activities (of service sector),by themselves, do not but they are an ora
support for the production process.

A. provide help, support

B. produce services, support

C. Produce aid, good

D.Produce a good, aid
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These activities, by themselves, do not produce a good but they are an aid or a support for the
production process. For example, goods that are produced in the primary or secondary sector
would need to be transported by trucks or trains and then sold in wholesale and retail shops



